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9210000
39121410
39138220

39121520

32551290
740

38651300
32341110-2

2016

A4

60*84*70 [/ 2

60*90*90

TP_LINK

Zl

2300
800
80
100
270
130
150
80
100
220
50
40
50
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950000
890

950

1150
450
33000
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200000
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24500
42930
21450
26400
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64600
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8250
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8250
8250
5050380
2060000
950000
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990000
60000
200000
750000
300000

320000

13000

40000
20000
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13.04.2016

179
56
1330
245
159
165
176
166
646
69
165
155
165
33
12318
5150
1
500

200

300
38
30
5
1
30
30



30192700-1|3nkhwjul whunnyphkp £LUZ i 43000 43000 1
30192121-2|3nhs CZ huin 40 4800 120
30192760} Uphs unynpujub CZ hwwn 30 150 5
30199420-1f - PP boruftibph huxtup sz hwn 200 2800 14

thnpp
30192170|Cwphu (74 huitn 250 2500 10
30199420-2} foninp uomulikph hwdwn Uks [o74 hwwn 250 3500 14
349500000-1} Undqinnywhbuwdwubp PLULZ npuyd 50000 50000 1
30830000-1 CoguAIRL, nbniuwluh ACUZ npud | 150000 150000 1
wuypuphbp
24000000 -17 Rhuhwjul wpnmunpubp (¢4 npud 700000 700000 1
24311114|OsUpwiljub ppnL CZ 1huip 2500 35000 14
24311116}Qpwsth pinphy CZ 1hwup 2500 5000
24311240 Zhnpopuhnlitp /NaOH, KaOH/ 2 Uq 1500 9000
24311260 Lunphntdh hhgpopuhn CZ g 2000 6000
30200000~ dtlapdseIhl POUZ npud | 620000 620000 1
uwppwynpnudlibp
38410000-1JUwnptp b uwppuynpmdlibp FLULZ npud 650000 650000 1
38411600|PH swihhy PCUZ hutn 150000 150000 1
24451100 Nkughnhntbnp £OUL ppund | 2000000 | 2000000 1
9211100{Cwpdhsh jnig £0UZL 1huip 2500 10000 4
Ubwnhdphq FLUZ thuip 1000 8000 8
3144000fUwpnling FCULZ huw 35000 35000 1
34351200} Udunnnnn PCUZ huwn 25000 50000 2
Qnh gninpohwghng vwpp PCUZ hwun 35000 35000 1
Lt quduykp £OUL2 hunn 16000 128000 8
38411200-1|Yntiinuljnnmhb gbpdwswth PCUZ hunn 3500 3500 1
Uwhpuiwgpng PCULZ huwn 2500 5000 2
38431570|BiEjnpnuwihly PLULZ hwwn 4500 4500 1
33191310} Pnpdwmtnpe ghpdwljunih FCUZ huwn 100 24000 240
30192100-1|tEwnhl (094 hwwn 30 150 5
30197231{duy CZ hwwn 1500 6000 4
30192720|plungdnn dwnhw (074 hwwn 700 11200 16
39292500}pwlint (674 hun 200 3000 15
39241210}qpuukiymluyhb Uhpun CZ hwin 600 4200 7
30197320 quiphs cL hun 700 4900 7
30140000} hwoyhy Ubphm G2 hwn 2500 17500 7
qfuwdnp ghpp (4 hwwn 1000 1000 1
30234500}y Yphs ALUL hwitn 4500 22500 5
30237410y £OUL huitn 3000 45000 15
30199140} yujw /inuuipenup/ (074 thwplp 5200 20800 4
19642100fwynihtphikbughl punubp (04 Lq 1200 42000 35
hnnuhawnbmpg £0UZ lg 80 80000 1000
wd. ulthupu RCUZ wuply 7000 28000 4
Umpuighgu- uhmgu/ S0rh PCUZ nntth 50000 200000 4
hwidwp/
33651163|uiquip oz g 17000 85000 5




15551800} wpiuninpnodwh oh&niljhbp RCUZ wnnth 43100 172400 4
2hu. nhulnhiutp £OUZ V/4g 200000 200000 1
44171400 $n qu £CUZ thwuphp 1500 9000 6
9221200} wwpubht acU2z | hupkp | 16000 32000 2
24321610fuwprunnqu c2 Uq 6000 156000 26
44163170-1{[Thunnhuk junnnduly RCUZ U 40 2000 50
44300000fhnuwliph jwp PCULZ U 120 12000 100
39224330y PCUZ hun 1100 6600 6
31510000|k. jwiugbp PCUL hun 750 30000 40
39831240}|jwgnn dwpnnn Wnipkp RLUZ hwwn 776,6 23298 30
ukpthjulwh uuwhpn RLUZ 1hun 1200 30000 25
30192133|Uphs c2 hwtn 30 600 20
34500000-2| Udunnuyyuhbunwdmutp PLUZ npud 500000 500000 1
30830000-2| * CeguAIRL, winnfuwuh PCUZ qpud | 358300 358300 1
wwypubplhp
38410000-2|Uwppkp b vwppwynpaudibp £CUZ npuu 500000 500000 1
30237310} Luppnhye PLCUZ hwwn 38500 38500 1
39292150 S0 wgpuilul whnnyplkp o2 huwn 5500 11000 2
/ratasanbHblit Habop
24000000-1{Ephy uyhpwn (074 1 2000 12000 6
24000000-2| Yhtphy kptp T2 1 5000 25000 5
24000000-3|Ugkunt T2 L 1200 6000 5
24000000-4|Yhukph) dnpdwdhy CZ 1 3000 3000 1
24000000-6| Lugujuwppnt (24 1 1000 3000 3
24000000-7|Unuppnt CZ 1hwp 1800 12600 7
24000000-8} nnughy uyhpwu CZ 1 2100 2100 1
24000000-9}2Epuwih (24 1 3200 12800 4
24000000-10|thopuutl Cz 8000 8000 1
24000000-11Snininy [224 1 1700 3400 2
24000000-12f Lunnphnudh hhnpopuhy T2 4q 1000 2000 2
24000000-16 Y hjmphtnp CZ wnith 1000 5000 5
44118000-1| Mnmuy.phpp d=0,7 Ud PLUZ hwwn 7000 21000 3
44118000-2| nnuy. phpp d=2 Uu PLUZ hwn 15000 30000 2
44118000-3| Nnnuy phpp d=6 Ud ACU2 hun 50000 50000 1
Nanu.quibwy P10+@50 BCUZ g 400 20000 50
Nbhnnuiblynih junnnyuly 40x60 | £CUZ i 1000 10000 10
NPnublmb junnnjwl 80x80 | ACUL U 1700 1700 1
gi;liﬁl?;iloo £OUZ u 1300 1300 1
Ulilyniliuly 55x55 ACUZ U 1000 3000 3
Chpuwann 25x4 POUZ U 800 4000 5
Chpuwdnn 20x3 PCUZ d 500 1000 2
31711160|Eknpnn @ 4 POUL nntth 3650 10950 3
Yunpnn uljujunwy 22x230x2,5|  £CUZ hwn 1250 2500 2




Yinpnn ujwjwowl 22x230x2,6 | £CUZ hwn 600 3000 5
Yuinpnn ujudwunwy 22x230x2,7 | PCUZ hunn 600 3000 5

14811300 2njwpwp @125 PLUZ hwwn 3000 3000 1

44192200}Qwd @ 4 PCUZ hwwn 5 5000 1000
31711170-1{4ntgkuunnnp 30 U4 PCUZ hwn 1500 7500 5
31711170-2}untinkbuwinnp’ 600 UuS £OUZ hwin 2000 10000 5

Uknplykp (ARBO) POUZ hun 1000 10000 10
2Emnuu M6+M12 PCUZ liq 2000 6000 3
44531180 Uwilikl M6+M12 PLUZ lig 2000 2000 1
44531220fwnurthonuly @6+p12 PCUZ g 1000 500 0,5
pnjqupyu thnpp RLUZ hwwn 15000 15000 1
44211420|2kuput (MCP-207) d=35ud PLUZ hwwn 3500 7000 2
Uty #9125 soyuntfan, unulig FCUZ hwwn 2000 4000 2
wpgbjwyh
Ut £125 PCUZ hwwn 2500 5000 2
punnn wpghiuhny

44440000|Unwigpuljuy) (206) PLUZ huwn 2000 4000 2

31110000-2| L2890 POUZ huitn 30000 30000 1
1,544wn;1500un/pny
Unnanp-ntinijnnp PCUL huwn 50000 50000 1
(50ujwn/pny)
rhnnijuinp i=50 PLUZ huwn 40000 40000 1
Uhlujudl thnly (A, B wnhyy) PCUZ hwun 2000 6000 3
39241200 UYypwwr dknph PRUL hwwn 4500 4500 1
32631150|Uwihy dbnph £LUZ huwn 3500 3500 1
phuwnkn FCUZ hun 1500 1500 1
prquphy (fpwpug b PQUZ hwwn 3000 9000 3
tnwduq)
42661300-2|ty. Q@nnhy (mpnyph) PLUZ hwwn 2000 2000 1
44511340|quythynt @ 30 PCUZ hun 5000 5000 1
dhonily M4 £CUZ hwn 500 1000 2
dhontly M5 PLUZ hunn 750 1500 2
dhenil} M8 RCUZ hwwn 1500 3000 2
dhontly M10 PLUZ hutn 2000 2000 1

30197647| MU A3 /DERpup R fCUL nnith 3400 13600 4

wwwnpuunbnt hwdwp /

30194320 dwwndwhh pninp PCUZ hwwn 220 2200 10
15991700-1}$hpuiph pnupe PLUZ lg 3500 3500 1
30192100-2| [thwnnhb PLUZ hun 150 750 5

30192210|Yuysnit dwwyywylit /upny/ PCUZ hwwn 545 1635 3

19400000§Snih ply PLUZ thuphp 1400 1400 1

31685000 L AWl Epfupmgint pOUZ hun 1400 2800 2

1w /3d b 5u/

31683300} kyupwlwub knwpwouhs PLUZ huwn 4250 8500 2




Myuudwuk winuh fuhwphyny

44421700 /61/ PLUZ hwwn 1000 24000 24
1
30197620|eninp qphym ALUL Yq 890 4450 5
[tk k
22851200| " RAPUAR /1nnih prEknh £OUL hunn 1200 18000 15
wwhywbdwh hudwp/
binwb dwl
Tuaon ubnumbn npuginl e, huitn 20000 20000 1
wuwhwpwb COW 3M/
2npugdwh wwhwpul
umguyht ghprwmahaubh £CUL huw | 30000 30000 1
Jupquynpumb vwhdwbbkpp
0-3000C
k b1
38311300 *2E7R bbb Thby £OUZ huitn 5000 10000 2
jq Yonuuwhdwbing
38311400|Upnupunkp fLUL iy 800 1600 2
38411200-2| P YRR buiwpmdnL /g, iy 10000 10000 1
wyuljju/
Llpmpuhbp REGopelhl Of - oy, hunn 3000 3000 1
100C
Lplwpuptp Ewpabuhl 0 pogy, hurn 4000 4000 1
200C
Stphwgmihtp BEyupotahlt O oy, hurtn 5000 5000 1
500C
MAM 3000 twlyshoh
ELISA/Reader /Punthwudbtipuihb FCULZ hun 600000 600000 1
wlwhquinnp, whwkpnuinwin
Uwiptulwt wdkguwl
ulhitimuwdhewuwyptp RLUZ Lg 93334 46667 0,5
/ppnighingh /
1]
33200000 Upuunpnohy wptwwpwnblip PCUZ huwn 16666,6 16666,6 1
/ppmgtingh/
39221130 Uyl upnpuannp pudul RLUZ hwwn 3300 ‘3300 1
1000y
38431710 Udunifua jupnghlin PLUZ hunn 54000 54000 1
Gquhnfuuut sugpuljuibpnyg
5
38431720-1 | PR anfmminam gl POUL hurtn 18,95 3790 200
jupnghijh
24000000-18} Lhuhuljul iyniphp RCULZ npuwud 10000 10000 1
33191110 Udunljjuy FLUZ hwwn 610800 610800 1
38311200} Uwihwmhy §oknp PLULZ hun 95000 95000 1
Udh Jupquiynphylitp
Jjumpuhly, ghpbpkihl, FCUZ uintth 20000 60000 3

yhukwhl /




Utitiqupuip Uhgwqwip

/Untpuighbulg, Gulpning / ACUL nnuh 45000 90000 2
Uhinwhwling byniphbp [4 50000 50000
33141117 | funipuly T2 Yq 3500 21000 6
fFuighy PLUZ thuphkp 250 10000 40
15991700-1|Shyinpt prphp £CUZ g 2500 25000 10
38411400-2|2nnh Juntudwswih ROUL hun 19500 19500 1
30197300-1 burlhy T2 huitn 550 550 1
Spuduunul (94 huwn 550 1100 2
38431490} Ntwnph puu PCUZ hwwn 300 3000 10
24000000-19}4kbuwhniuniu PCUZ liq 100 5000 50
24000000-20] Udnbhwuljuyhl ubjhupw PLUZ lq 160 8000 50
24000000-21[Untytpdnudwin PLUZ liq 160 4000 25
24000000-22| G hwljuh wr £eUL Yq 160 4000 25
24000000-2| VPt PR (phpuy Tl Uq 2200 4400 2
dwpnip)
24000000-26| 02U PPP Wl PRt G2 4q 2200 4400 2
(phdhuwybu Jwpnip)

24000000-27 ) Lugufuwppnt uunguitht (@24 g 2200 4400 2
24000000-28} Lwwniphnudh hhnpopuhn (94 liq 1700 8500 5
24000000-5] 9wt hnith hhnpopuhn BLUZ liq 1500 4500 3
24000000-30| Untihntth unydun T2 Uq 1700 3400 2
24000000-31|Ywhnudh unypdbun (o4 liq 1700 3400 2
24000000-32}Gplwph ipljupdbp unybun T2 Yq 1700 3400 2
24000000-34| Uintthnuuh Unjhpnun PCU, Uq 25000 25000 1
24000000-35| Rnpwppent TL lg 2200 2200 1
24000000-36|Udntihnudh juppnbwn 2 g 3200 6400 2
24000000-37|Uny dnuwhghjupent CZ liq 7800 3900 0,5
24000000-38] Uwjhghjuppnt CZ S 5600 2800 0,5
24000000-39|8hulh unidun C2 g 1700 850 0,5
24000000-40}inbdh uny pun c2 g 2400 1700 0,5
30192121-3|qphs 2 hurtn 150 1200 8

L whgmmlub hunfup fCUZ huw 450 90000 200

twhiunbuus hin

~ 1T dwunbp nuntnipy PCUL huwn 250 100000 400

24300000-1[ Apnddtun huwnyw (074 q 2000 10000 5
24300000-2}Uuhiht juwgnyn (4 q 3000 15000 5
24300000-3{Fwhnhnul pponhr foUZ 0 3000 15000 5
38411400-1) 1POPPR unbunimpiniin ROUZ hun 11000 11000 1

swithbnt hwdwp

Twpwuyjjuuwn

hintujuspuwpwbwljub PLUZ Yg/ninuh 25000 25000 1

hhwnwgnunipiniiibph hudwn

Muuwhl hnpdwbnplbp, 154 | POULZ huwn 10 1000 100
24300000-4|Ewknnpd, 1.54) POUL huitn 7 7000 1000




24300000-5|twyklinnp, 024y £CUZ hunn 5 5000 1000
DPPH RCUZ q 70000 70000 1
Folin-Ciocalteu reagent RCUZ Uy 160 80000 500
Luhny T2 1 1600 4800 3

24321330|Epuitim 2 1 1500 15000 10
24321340| Ukpuitim T2 1 1600 4800 3
T Ukp 15d-wb
urinpip 15U; whng £OUZ hurn 1200 9600 8
thnpdwinplbph, 20 ntn.

38431720-2fUhipnuhytwnh suypuljubbp PCUZ Uiy 200 4000 20

38431720-3jUhypnwyhwbtwnh sujpuljuiibpn | PLUZ iy 20 4000 200
Utjubqud Suwlt

18421140| " dbquIyE oquwgnpbU T2 nntth 2500 2500 1
plwnhuk dknunghtipn M swthh
Uhthlughy o2 Uq 3000 1500 0,5
42990000} Quupnhs-swliswigwnhy PrCUZ hwin 2800000 2800000 1
42631150 Utidppwibiughl dwdihy RPLUZ hwwn 10800000 10800000 1
44163170-2| (ttnhtk unnnuy £CUZ dhwnn 13333 1999950 150
42121150 nipuyyniy PCUZ huwn 2500000 2500000 1
Uwnkgnn hwdwlupg £LUZ hwiin 7800000 7800000 1
£ u
wpuphgwihl $hpap £OUZ hww | 2000000 | 2000000 1
(ipwgntghs pupnphy)
15991700|Unqupupnph $hpnp PLUZ huwn 1300000 1300000 1
44141110} vnnuljutp b hwdbmdubp RLULZ dkup 10400 1560000 150
44611100} Nuthuwdmbikp 1n (SN hwwn 600000 1800000 3
44611570| Mwhwdwbubp 31 PLUZ huwn 1533333 4599999 3

30192700-2)9pkbwlul whinnypttp RCUZ npud 33300 33300 1

Ququpupulub pnup RCOUZ hwwn 40 300 20
30192730 Yuquupupuljul puqubpttpf PCUZ hwwn 20 400 20

39711330-1|Yuquupupuljul qupnuypbbpl  RCUZ huwin 80 900 10
1

39711330-2 ;mquumpmumh MWPRLRBER| oy huin 50 500 10
G u

punnwunubh dwppin RCUZ hun 300 3000 10

uhgng
Prpuywiwl-nkighunp PLUZ hwwn 900 7200 8
onpuywubuly A4 PLUZ huwn 120 1440 12
Prpuywubwl duyipny RCUZ huwn 400 3200 8
30197120f4néqudlbip PLUZ wnnih 220 440 2
30197340j Uwyulymaphy eCUZ hun 250 500 2
30197300-2| Fuiljhs 2 FLUZ hwwn 1000 2000 2
30197220} Udpwuljtin fLUZ unnih 120 480 4
39298600 Uknuiith gjnpniu FLUZ huwn 10000 10000 1
Uknuwth phpunpub PLUZ hwwn 3200 12800 4
44521120) nwl thwljwl bkpnndng RLUZ hwwn 2000 12000 6




XEROX 3550 wnuynn,

wunndkinn uwpph RLUZ whqud 6500 26000 4

1hgpuynpnud

XEROX 3550 vayynn,

wwwn kg uwpph PLUZ whquud 11200 11200 1

Jtpwinpngmd

HP 1020 wugnn umpph peuz | whqud | 4500 18000 4

1hgpwynpnud

HP 1020 1nunn uwpph peuz | whqud | 9000 9000 1

thgpuynpnud Yipwinpngnud
32550000f2Enuifunu PLUZ hun 25000 50000 2
30239150|Suhy Canon LBP-6020 £LULZ huin 60000 60000 1
30237460} Untiniwown Genius KB 110 PCUZ hwwn 4000 32000 8
30237490} Unuhwinp 2235 PHILIPS PLUZ huwn 72000 288000 4
30211280fzundwljuipghs 1820 2 GB (674 hun 132000 1056000 8

32341110-1{Pupdpwjunu PLUZ hun 12000 12000 1

32341100{lunuunhnn PLUZ hun 3000 3000 1

USB 8 Gb Kingston DTIG (USB coUs bty 5000 5000 1

3.0)
42991100[Gwquupup £OUL hurtn 35000 35000 1
39121200} Nuwinqujui ubinuil (924 hun 40000 1200000 30
39110000} Nuwinnuljult mpnn CZ hwwn 22000 1320000 60
39515400{TEpnwynp Jupugnip PCUZ  puunnthwb]] 40000 240000 6
18421130} tkwnihuk dtntinglitip eLuZ hwwn 600 24000 40

Ynyninh dwppbint dhong PCUZ  phwwn (750d)] 900 10800 12

Zurnuly Ywppliynt dhong RPQUZ  pun (750d]] 1000 12000 12

Gt dwbpugkndnn PCUZ  phwwn (750d]] 2000 24000 12
39224332fnmy; £LUZ hwwn 1600 3200 2
39224331y 1 PLUZ hwwn 600 1200
36221410 PUEL Ml uwlul b FOUZ huw 2300 9200 4

gnquphwl nkwnhtk kphqny

Unph wuply PCUZ hun 600 7200 12
34921440} Unpudwul PCULZ hwuwn 1800 27000 15
4451111020t dwppkyn pwh PCUZ huwn 3000 9000 3
39831283|Lwp hwnwhh LU hwtn 1500 18000 12
39831281 | Lup wuwunnthwbbkph PLUZ hun 1100 11000 10
39714100{Onuthnfuhs PCUZ huwn 600 7200 12

fuunnn RCUZ 80000 80000 1

Epnupitnp ughpoh fOUZ qpud | 223000 223000 1

npnpdwl uwpp/

PH Jbtwp HANNA (024 ppud 89000 89000 1

Jhpunhl EXTRA N1-1lg,

pElwnntihwu microcol alpha-1kg,

waihhthynihubpnipynt FCOUL g 50000 100000 2

viniclar-1kg, $hpdbklun Lafazim GL;

100q, Lafazim fruit-250q,
hudnpuulitip /2.549/, H25205




Lwpnpunanp uyghpuwswd 0-

(074 h 22000 22000
100% ghpuwswithny s !
Lwpnpuwnnp pwpupuswi (24 hun 5000 10000 2
Lwpnpuwnnp ywhybwlbkp 10U} [o24 hwiwn 850 8500 10
Lwpnpuwnnp whykunbbp 25U CZ hwn 1600 16000 10
Lupnpuuinp fnliadl yuthhy o2 hun 900 22500 25
ynjpuitiip
Lwpnpuunnp b.uwhl (24 huin 15000 30000 2
Lwpnpuwunnp Ynjpw Upshtwp 07 hwwn 4500 9000 2
Lwpnpwinnp thnpp dwquplbp (024 huwn 600 1800 3
uk
Lwpnpunanp uniupubihn vz huun 6500 19500 3
popdwl hwdwp 5 qunhljwynp
KaOH dhljuntiuy [o24 huwwn 2500 7500 3
8nnh $hljuntiuyg CZ huin 3500 7000 2
Quithhy Uhbgniputikp 250U CZ hwun 1500 3000 2
Qwthhs Ukgnupluikn 500U} (@24 huwn 2000 4000 2
;?Pnpmmnp gl 0-55 o2 hunn 6000 12000 2
[FEnhub pnnndulukp Gz dbup 3500 35000 10
Eoapdwb Ynjpw 0,51 074 hunn 2500 5000 2
Uduqt dudwgnyg 3 wnub PCUZ hun 500 500 1
Udugk dwdwgnyg 5 wnyk PCUZ hun 500 500 1
annk In
Unjraljjes &nn&p wpptip o2 npund 5000 5000 1
npudwswthh
tunhtk {itiln L
{tanplk ogublp wwpphp el npuy 3500 3500 1
upudwswthh
Lwpnpuunnp qudhdiibp (@24 npud 500 4500 5
MEuphh puuhlibp Cz hwwn 600 3000 5
$hinph pninp PALL 40%40 kS50 | £OUZ g 4160 52000 12,5
budklghnl
thinkpnunpubivhuwgh RCUZ wnth 80000 80000 1
wfuwnnpnohs ohdnijutkp
Uhlypnphninghwlut gubp b
wukn yjwundwuk £rUZ hwwn 42 21000 500
{(Mwuwn.onuly)
Ouypuluy 0,1-10 dlyy £euz hwwn 5 5000 1000
Cwpuljw0-200 dlj feuz hwn 5 5000 1000
Lo PCUZ hun 1250 6250 5
Mkh Uks FRUZ huwn 800 4000 5
Ynuybiph dpun PCUZ huwn 1000 2000 2
Qtnling qubful £OUZ, huitn 25 5000 200
Uduindwwn bhpunplhy fCUZ hwn 25 50 2
femughy [¢24 dbuip 166 1660 10




2 50 5000 100
2 1830 1830 1
2 2000 2000 1
NaH2P04 2 3200 3200 1
KHPO04 2, 3500 3500 1
15872600 NaOH 2. 4000 4000 1
33211100 2, 1100 11000 10
(
) VFD-E, 2, 340000 340000 1
75 4
(TaxeomeTp) 105000 105000 1
TM-7010K

66.053.375,6



